FTEATH U 3R IR
THEuTae e e de
I HETE O WA

10549 - grsft sha gpaf-it sm?

A

gfe hls §ool heAdTel gool ch HHATRIK (STI8TH) chl STt o foly STTaT 8 af T Ihch KR Gai-T T Sifard
§? SR T ag 37U AT H ot it ehem?

farsqa s

1- g5l & i |G & © TG, TAST 3R feher|

gool 31 g & foh I8 Shadl gool ohe | THTIS T8 & foh a8 ST o, fthe a8 I9Y gelTel g1 911, TR gt ae| fehe =
Tg ¢ o6 a8 got 3R 39T &l Ueh €1 UeH | Ay, iR 39 I Uen €1 aatth 3R Uah €1 92 3T go 31k 39T &
g ardht 81

3dg o1 Sk & aftia 8, ag smasn Aieeg g1 & Rarad &ed & o 381 = hgh: g4 3ieaig & Wik Heelodllg
A T ToorH & AT - F3oot1 a1 Iig 32T 81 F o G uget [T Y, 4t 3ieeiTe & WieR FoelodlTg Sife @
oot 3 HATAT: (ST 3TeHT IYT T TEH YT dTg dg 9T bl UgTH §1¢, 3R ST g5l ohl UgRIH Ji4HT dlg a8
&0 SRl UgX dig | 3R SR & 37U 1Y g SRl SR 9 & gidr dt & +ft ST ol UgH Sigdr| gArd 398 9 $o

3 IGT AT Y& JiET 3R e A g5l hl YgIH oidl...)

39 R (541 T 1694) R gfem (58 T=am: 1211) 3 Raraa fhar &1

2- IWIG - S foh Sherel ool ol 8 SUY Ugel J4T gl hT 8 -1 8ol SIRTG ehidTel UR Bal ohl Geli-l eheAT AfAard
el 8, fohg T&Tea &1

3- ool aAgST 3R fohee # Uk gpaft sifard 8, 3k g pM (TR Uehe &) Y paf-le, [T gost
HEATCT] ST FARAHAM TIT-IER oh Ufd 39 1d TR 3MHR Uehe ehid] & foh 399 IGeh [T 59 gaTed ol gFigTa
o | oot qageT H BToft STT 3R §ooT ol Yeh TTY thedT & 3R 37 &1 & AT geTel gt St & SR ey,
qiemer SR T § i giar 81

giferd fam sregeatrg 4 afofd @ foh 3ot IR ASiTeeTTg SI=gHT = hgl: 3TciTg & QTR Hewloellg eile I Joord A
Eooldel IGT3] h JTER TR IUT i gool oh AT AT o1 Io1T 3R &< | AT S Fe-getthr § 31U+ 91

B T SR ez Y| TieR Heeledllg STcife T HeotH A [T H YT hT TgTH FiET T, fohe 3T Heeloalg

1/3


https://m.islamqa.info/hi/answers/10549

FTEATH U 3R IR
THEuTae e e de
I HETE O WA

37cifg T Tootd A goot o+t ggeH sty form (Hiaa s &ft) | FAre AT = it et Toctedig STeife T Hootd & A1y
3T St gool I AT 197 IS[T| T H & o U & S 31U F1Y g4l o STHeR ook 1Y & 3R 3o 0 o fSiAdh
U 841 & STHeR gl & | STd 6l Hoeloellg Seile I Good HIhl Ugd dl Al 9 AT g7 H I STt 841 &l SIHaR
TR ST & Ik folq g Tt galTet gl & forad a8 dfard o AT 71T o7 I8l deh foh g 37T ool O & ot |
3R A A 9 S aafth o U 841 &l TR Tl ¢ df 98 Sqeeis (hTeT) T daTth e, ThT 3R #al & ol 93 &,
Tt ThedTd 3R gaTeT 81 STTU (TEH @it ) | fohR (85T ol THY 31 UR) gof ol Ued Jid| fohe STY &< opr
SR 51 U4 gg o9 R goot o et & A <@ ok I R 3= uRar (8R) & amug o & 91 AT 4.

3 T (819 T 1606) SR gfe (g8 T=am: 1227) 3 Rarad frar &1

4- & T - HS-ghd, T 3R $e - T I I8 STHaR ¢ O goot shaarat fgedt (839 & a18%) ¥ 31U+ U™
Fiee T Uget 37eeig o U 8- Al dth ASTdT & | JAST dhedTet 3R feher deraret & o9 sidk I8 & fon: faw
A dTeT S0 IAT J IR g o ST& geTed g1 BT, I8 8 Se-fewoil deh S0 TgH OR SITeht 36T, 3R Tgt
IGch gooT chl H1ad H UAT hed anf e B

g~1d Tg & foh gl @l aq SaI-fesann Sg~1g & & Faig fovan sq

grfer fo sregeatre 9 aftfa & foh 3e7t IR ASieeig SI7gHT = hgl: 3TcciTg o AR Heeleellg Seile I Joord =
EoolIdd agI3T h STTR UR YT i gool o AT AR a1 I7am 3R g&Y faan| gaTe Sy Je-gerthl T S7o+ I7ef
gl T STHaR ks TT... fOhR 3119 Ut df TWhT & UTT 31T 31R TUhT 37R HaT ohl ITd daehe vmmaT, fihe 3 = ferdt
IS oY gelTet Tel THET i T Y aoig @ Fiser g1 7 oft agt aes fos 31mu 3 S goot gx1 o fora oik dig=g
(patiT) & f&T S7o+it g4t ot g (aer) o fea, fhr a8t @ warmT S1TY SR Sqeeis ol daTth fohar, o gX 39 der 9
AT g1 7T STt U i aoig 4 Ay ) 718 of...

3 T (&< T 1606) R gfer (g8 T=am: 1227) 3 Rarad frar &1

5- foreft oft groft tr 3Teh &1 # gt s sifard w161 8, ifeh et AT gt o hrdf | T ¢ 3R g had
HART 81 | g1 hdT 8, TGI dch 1ch SR BISI & HUR Ih gool & YUY HIHI | TS hl Iolg 9 & (Fatr) sifard
B SITaT §, d 98 I 31UA 21 A Tag gl e, dfceh I AT a1 Hernt g1 | Sieg e

ST STSHHTATET Thgd & : 8af o It Ia”t &l Id ggafd & 91y &9 fi eRd! (TRER) TR STag AT ST &,
TR AT 851 & A o foig, TR Aot - fastwen: 7af - 341 & & & foly Terd 1<t 8| JHT g3l

2/3



FTEATH U 3R IR
THEuTae e e de
I HETE O WA

ifcheT 3R gTSi o1 URaR & foig 9+ 37 321 7 i & §, af 37as foiy €8 & i et a1 SiFeaR @l &
forg G ameht T 34 8, <t I8 SresT B

3R AT TIMTAT & G 31feq F7 &1 ¢

TEATH U 3R IR

3/3



